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D(t,y, k)= k¥ 7K,y

k -y AbsTol =:1075 RelTol :=10
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k:=stack(1, 0.4)
5

y,i=stack(1,0,0) ¢t . =0 ¢t =10 N:=30

min max
res:= dn_GearsBDF{yO, toinr traxr N7 1, D]'
res:=dn_ ImplicitRK5 {YO' tins Cpaxr N7 1, D]'
res:= dn_AdamsMoulton{yO, toins Eraxr N7 1, D]‘

res i= dn_ExplicitRK45{y0 , t N-1, D]

min '/ tmax'
T:=col(res, 1)

augment (T, col(res, 2))
ABC:=¢augment (T, col(res, 3))

augment (T, col(res, 4))

Kinetic curves
1 T T T T =
—o— [A]
—O0— [B]
0,75 F —o— [C] | 4

- 05

0,25 | .

t, min

ABC



